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Instructions:
EZ4 A4
E£EMAL

> Question number 1 to 20 are of short answer type.
£1E20 BYREEE.
£1E20 BYREEHE.
> Each question carries 10 marks.
BREL 10 2.
BES5 10 2.

The ratio of number of diagonals of a pentagon to the number of edges of a

cube is

HEENEARBEESBNERH LR

AN ALBESESHRNIBZLER_


mac


2) There are m boys and n girls in a class. If the total number of boys in the
class is 24 and the ratio of number of boys to the total number of students in

the class is 4:7, then find the number of girls in the class.

—EMRE mESE  n @i, BEMRTFEEREEL 24 A, BE AR

BERM LR 4.7, ASRIER P ZE AR,

—PMHEMANBE  n N LE, URMEPBELHN 24 A, BEABEHR

RFELB 2N 47, MRMR P 24 AN,

Sarah is 30 km away from her school. She starts cycling towards her school at
a speed of 10 km/h. At the same time, her friend John starts from the school
towards Sarah at a speed of 15 km/h. How long will it take for Sarah and John

to meet?

RERIBEBEMAYER 30 NE, #FRBN 10 NE/NEHNRERBTENEER,

B, #RYARNEL 16 RE/NENEERERHBES B XK. FSHMK

HEESREBIEEE?



FEREEMAYER 30 NE, #IFHA 10 2R/ IR ERERBTEINERER. 5

teERY , YRR ABE 15 RE/MHBEENERBR @SR E, SR

AREEZKANEFERNTE ?

Find the simplified value of 12 + 23 — 32 .

K12 + 23 — 3¢ WESMLIES

K 12 + 23 — 3% ELES

How is 5 thousandths written as decimal?

Fo2hEBEERNE?



6)

If the digits of the three digit number are in continued proportion and the first

two digits are 4 and 6 then find the third digit of the number.

MREBE=NENBFEEKLS K MaTMUEFE 4 M6, BEKRLEBH

FHE=NEF,

MRRXN =B FESEKLES , HERTRUBFE 46, PAKIXA

BFNE=UHF.

Rancho and Joyce took 3 hours to clean the car together. If Rancho takes 5
hours to clean the car on his own, how long will it take for Joyce to clean the

car alone?

WENEFRE -8R T 3 EANERERTE, MREEF—BEAFES BNKEX

BRAE , BESFH—EAZSESREBRBERIE?

ZFVFTFRE—BIET 3 NMIERBEETE. MREFT—PAFE 5 NMPEK

maaE , BATRE—MARESKHAXBEEIE?



8)

A cake is cut into 3/4 and it is shared among 3 friends. Each friend receives

an equal amount. How much cake does each friend get in decimal form?

BRI 34, 216 3 AR, BEBRRAERIIBSNGE, WIEERT &
BRARBIZLER?
BERWLIK 314, 24 3 MR, SMBERB2BIIESFN0E. WIBEAR

™, BOMBERBIZLER?

If in a solid figure there are 4 vertices and 5 edges, then find the number of

faces in it?

MR—EMNEEFSE 4 @RS @2 BERCHEE?

MR—ANUEEFER 4 MARKM 5 ML, BARECHWEE ?

10)
.Ifb—a=70° then find za and «b.

Eb-a=70° 3K .a & «b.

Eb-a=70° 3K a & «b. ’\‘Qb




12)

50 circular plates, each of radius 28 cm and thickness 5 cm are placed one
above the other to form a cylindrical solid. Find the total observable surface

area.

#% 50 EEFR , BR+¥ER28EX , EERASEX, " BE—RB#HRE , K

—EEEFER, RBTHERENR,

59 50 NEMA , BAEEN 28 X, BEH 5 BX , —E—RBHE , KA

— MR B, REFAMERER,

13)

A train traveling at 60 km/h takes 7 hours to travel from City A to City B.
Another train, starting from City B at the same time and traveling at 80 km/h,

takes 4 hours to reach City A. How far apart are the two cities?



—HETIES 60 NE/PERRREMNATEIB HEE 7 Mt 5—SKERETM
BitAk , 80 NE/RREETRE , FE4 PEFEEEIE AT, WANHET
BEEAZER?

—HIFE 60 NE/NENAREBERATEBHEE 7 MF. Z—INEFRKFHREB
miHE , U 80 NE/NFRVRETE , FE 4 /NFFRERNE A T, MBS ™R

BMEZER?
14)

If the last three terms of a sequence are 145, 42, 174, find the first term.

MRFINHEER=IER 145, 42, 174 , FHRHE—1E,

MRFINBERFE=ZR 145, 42, 174 , TR HE -,

15)

If x =2+ 2v2 and y = 2 — 2v/2, then what is the value of%.

Brx=2+2V2 Ry=2-2V2 , ZHERHE"?

xX+y

%x=$HNZ&y=2—w7é%mE%ﬁZ?



16)

Amy runs 2.5 miles every day for Z of a week. How many miles does she run

in that period?

NAKREE 34 MFERE 25 NE, ERREERETSIONE?

NAKRERE 34 PERE 25 N8, tERRNEETSONE?

17)

The value of 0.86 x 0.86 - 0.14 x 0.14 is
0.86x0.86-0.14 x 0. 14 W EZE
0.86x0.86-0.14 x 0. 14 W EZE

18)

If the numerator of a fraction is increased by 400% and the denominator is

increased by 300%, the resulting fraction is g . What is the original fraction?

MRS BEI S T 400% , 77 300% , AIFFE D BA 2017 « RO
—rED?
MRS W 5 F 18N 400% , 5 -0 300% , MAFHDBUR 2017 « R M

%P7

fim



19)

A car travels at a speed of 25 miles per hour (mph) for the first half of its
journey and then increases its speed to 50 mph for the second half. If the total

distance traveled is 200 miles, how long does the entire journey take?

FEEBFRIREFR L 25 KRB/ (mph) WIEETE , ARER¥EEPKRE

EREE 50 ZRE/ M, MRBITREERS 200 RE REAREFTESRERF?

AR B BURAR R A 25 FE/NY (mph) BOREEFTYR , AL E R A

EREE 50 ZRE//ad, MREITHEREH 200 RE BMREFES KA ?

20)

The ratio of the volumes of two cylinders is 2:3. If the radius and height of the
smaller cylinder are 3 cm and 4 cm respectively, find the height of the larger

cylinder if its radius is 4 cm.

MERHINERLER 2 3, FRMESBNFENESEDRA 3EXM4 E

K, AIRBAEEEXER 4 EXKENSE.

AN ERLERN 2 3, MRRPEAFENFEENSES N 3 EXM4 E

K, MRBEARBEALES 4 EXNOBE.

END OF PAPER



